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POLITICAL SCIENCE
Paper 11
Time Allowed : l% Hours] (Maximum Marks : 100

Note — This question paper' contains fifty (50) questions with multiple choice
answers. Bach guestion carries two (2) marks. Attempt all questions.

1.  Which among the following is not a correct representation of Gandhi’s political

philesophy 7

-

(A) Violehce contradicts rational discourse

(B) Modern civilization promotes materialism

(C) Power needs to be dispersed

(D) Non-violent direct action should aim to coerce opponents .

9 The theory of two-swords is a dualistic theory of sovereignty that applied

0. ccrvrisisnnnnpinnes .

(A) God and his people

(B) Spiritual and tem_poral authority

(C) The Lords and the serfs

(D) The national and the provincial bodies

TB.C. : 1&14/ET-11 2
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3. Match the following and select the correct answer from the codes given

below :

(@) Bentham : (1) Two Treaties on Government -
(b) Locke - . ity  Philosophy of Right

(¢) Alasdair Maclntyre (iii) - A Fragment on Government
(d) Hegel (iv) After Virtue

Codes :
(A)  (@)iv), B, (e)-ii), (d)i)
B (@i, B0, (©-G), (DD
(O (a)iD), (b)), (e)Hiv), (d)D)
M) (@), (b)-tiv), (e}-iii), (dii)
4. Which of the following statements are true ? |
() The scope for liberty in Hobbes' Leviathan is limited by la;v

{(iiy, Both Rawls and Nozick endorse social justice, but disagree on other

matters
(iiiy 'The post-behavioural movement rejecteé scientific enquiry
(v) Mill was a proponent of proportional representation
(A) (), (i) and (iif) (B) (&) and (i)

(C) (i) and (1) (D) (i) and Gv)
T.B.C. : 1SN4/ET-1I 4 '
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5. Who said ‘Man is by nature a political animal’ ?
(A) Aristotle (B) Hobbes
(C) Rousseau : (D) Gramsci

6. Match the following books and their authors and select the correct answer

from the codes given below -
(@) Whose Justice ? Which Rationality 7 (i) John Rawls
) Law of the Peop;es (i) Alasdair Maclntyre
(e) Liberalism and the Limits of Justice (iii) Charles Taylor
(d) Sources of the Self (@) Michael Sandel
{v) Michael Walzer
Codes :
(A)  (a)w), (B)iv), (c)-(D), (d)-{iii)
B) (a)div), (B)-1), (e)-(v), (d)-iE)

() (@)D, (b)), (e)iv), (d)-iii)

M)  (a)p), (B)Hv), (e)—@), (d) i)
T.B.C. : 1814/ET-11 6
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T Which of the following are correct interpretations of the réspective

thinkers ?
() Plato viewed democracy as a degenerate corrupt regime

(ify  For Aristotle, democracy is a just regime as it works to the advantage

of all
(iii) Mill sought to promote diversity of opinions in legislative deliberations
(iv) Rousseaw's socu;! contract requires active citizenship
() (D), i) and (o) B) (), (i) and (iv)
(C) (1), (i) and (#id) (D) (&), (D) and (iv)
8. Which of the following contradictions is .antagonistic according to Mao ?
(A) between the peasantry and the proletariat
(B) between the proletariat and the petty bourgeoisie '
(C) between the proletariat and the national bourgeoisie

(D) between the Chinese people and the compradore bourgeoisie -

T.B.C.: 18/14/ET-11 8
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9. On which question did M. N. Roy differ sharply with Lenin at the Second

Congress of the Communist International at Moscow in 1920 ?
(A) Colonial thesis

(B) On Lenin's view that.the communist parties in the colonial countries

must assist the bourgeois liberation movements in the colonies

(C) Socialist revolutions would occur first in the capitalist countries of the

West and only thereafter in the colonies
(D) All of the ab?ve
10. Consider the .following in the context of Gandhi and Ambedkar :
(z) removal of untouchability
(i) wvarna order
(ttr) reservation for Scheduled Castes
On which of the above Gandhi and Ambedkar differed (use codes) :
(A) (i) only (B) (@) only
(C) (i) only (D) (@), (ir) and (iii)
11. The consociational model of democracy is associated with :
(A) Samuel P. Huntington (B) Dennis Dalton

(C) Robert Dahl (D) Arend Lijphart

T.B.C. : 1814/ET-11 10
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12.  Given below in List I are some theories/concepts and in List I their exponents.
Find the correct match and select the correct answer from the codes given
below the Lists :

List I List II

{a) Systems Theory | () Elinor Ostrom
(6) Modernisation Theory (fi) David Easton
(e) New Institutionalism (fiz) S. M. Lipset
{d) Dependency Theory (iv) Fernando Cardoso
— i

(a) (5) (e) (d)
(A) (&) €3] (i) (iv)
(B) (&) (zir) (iv) (3
(C) (i) (#z) (2) (iv)
(D) (zi2) () () (£)

13. Which of the following pairs is not correctly matched ?
(A) Elite Theory of Democracy—Robert Michels
(B) Third Wave of Democratization—Semuel P. Huntington
(C) Federalism—K. C. Wheare
(D) Dependency Theory—Lucian Pye

T.B.C. : 18/14/ET-11 12
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14. Match the following books and their authors and select the correct answer
from the codes given below :

Books Authors
(a) A Systems Analysis of Political () S.M. Lipset
Life .

(6) The Power Elite (@) David Easton
{¢) Political Man (iiif) Robert D. Putnam
(d) Bowling Alone (i) C. W. Mills
Codes : . ¢

(a) (b) (e) (d)
(A) (i) (iv) (i) @
(B) (iz) (iv) (@) (2z)
(C) (i2) (ziz) (i) (£)
(D) 03} (iv) (2id) (i2)

15. Which one of the following is not an application of the proportional
representation system ?
(A) Single transferable vote system
(B) Party list system
(C) First-past the post system

(D) Additional member system

T.B.C.: 18/14ET-11 14
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16. Which one of the following is not a form of political party discussed by Maurice

Duverger ?
(A) Caucus (B) Branch
(C) Cell (D) Intellegentsia

17. Match the following books and their authors and select the correct answer
from the codes given below :
Books Authors
(a) Consm‘uﬁona;ism : Ancient and Modern (i) Peter Bachrach
(b) Models of Democracy (i) J. A. Schumpeter

(c) The Theory of Democratic Elitism (i) C. H. Mcllwain

(d) Capitalism, Socialism and Democracy (iv) David Held

Codes :

(a) (b) (e ()
(A) (eiz) (&) (i) @
(B) (i) (i) (zze) @
(C) (aiz) (i) @ ()
D) @) (zid) (iv) (z2)

T.B.C. : 1814/ET-11 16
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8. According to Huntington, political decay is caused by :
(A) a preference for order over participation
(B) institutional development
(C) refusal of governments to control executive participation

) the clash between civilization

9. Who offered a definition of power as “A has power over B to the extent that
A can get B to do something which B would not otherwise do” ?

{A) Max Weber (B) Robert Dahl
(C) C. W. Mills (D) Steven Lukes

20. Match the ‘following Ideas and their authors with whom these are

associated. Select the correct answer from the codes given below :

Ideas Authors

(a) Rational legal authority () David Apter
(b) Underdevelopment (i) Max Weber
(c) Social capital (iii) Andre G. Frank
(d) Political Modernization (iv) Robert Putam
Codes :

(@) (&) (e) (d)
(A) (73] (zii) (iv) (D
(B) (i) (#i) (£) (i)
() (1iz) (iv) @) (@) .
) (i) (iv) (i17) (1)
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91. Who was the first President of the Indian National Congress ?
(A) Dada Bhai Naoroji
(B) Surendranath Banerj.ee
(C) Womesh Chander Bonnerjee
(D) A.O. Hume
99 The Preamble of the Constitution of India describes State as :
(A) Sovereign, Democratic, Republic
(B) Sovereign, Secular, Republic
(C) Sovereign, Socialist, Democratic, Republic
(D) Sovereign, Socialist, Secular, Democratic, Republic

23. Which one of the following is not explicitly included in Right to Freedom

under Article 19(1) of the Constitution ?
(A) Freedom of Speech and Expression
(B) Freedom of Criticism
(C) Freedom of Excursion

(D) Freedom of Profession

TB.C.: 1814ET-11 20
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24. Which Constitutional amendment reduced the voting age from 21 years to

18 years in India ?
(A) 61 B) 71
(C) 75 (D) 76

25. Who among the following do not participate in the election of the President

of India ?
(A) Electefl members of the Lok Sabha
(B) Elected members of the Rajya Sabha
(C) Elected members of the Legislative Assembly
(D) Elected members of the Legislative Council
26. Which of the following states has a unicameral legislature ?
(A) Jammu and Kashmir (B) Himachal Pradesh
(C) Uttar Pradesh (D) Bihar
27. Who described Indian federation as ‘quasi-federal’ ?
(A) W. H. Morris Jones (B) Rajni Kothari

(C) Granville Austin (D) K. C. Wheare

T.B.C.: 18/14/ET-11 22
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28. Who among the following was not formally associated with the introduction
of PIL in Indian judicial system ?

(A) Justice J. S. Verma (B) Justice P. N. Bhagwati
(C) Justice V. R, Krishna lyer (D)  Justice O. Chennappy Reddy

29. Given below in List I are the names of some political parties and in List Il

election symbols allotted to them. With the help of codes given, find the correct

answer :

List 1 a List I
(@) AIADMK @ Broom
(6) Biju Janata Dal (fz) Jora Ghas Phul
(¢) Trinamool Congress (i) Shankh
(d) AAP (wv) Two Leaves
Codes :

(a) () (e) (d)

(A) (&) (&) (iv) @
(B) (i) (i) (Ei) (@)
(C) (i) (izt) (@) (i)
(D) (iv) (iiz) (iz) @

T.B.C.: 1814/ET-1I 24
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30. What does the term NOTA refer to ?
(A) Neither of the above
(B) None of the above
(C) Not applicable
(D) None of the alternative

31. Politics-Administration dichotomy is associated with which one of the following

thinkers ?
(A) Luther Gullick (B) Woodrow Wilson
(C) Henri Fayol (D) All of these

32. Which of the following was advocated by Gullick ?
(A) POSDCORP (B) POSTCARD
(C) POSDCARP (D) POSDCORB

33. Prismatic Model was evolved to study the problems and issues of :
(A) Developed world (B) Developing world

(C) Both (A) and (B) (D) Neither (A) nor (B)

TRO - 1IRNAET-11 26
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34  Which of the following is not the characteristic feature of the ideal model

of Weberian bureaucracy ?
(A) Contractual recruitment (B) System of Rules

(C) Impersonality (D) Centralization of Power

35. Collegiate executive is the salient feature of which of the following

country ? ]
(A) Switzerland (B) UK
(C) India (D) USA

36. Which of the following is not an element of performance budgeting ?
(A) Functional Classification (B) Programme
(C) Plan (D) Project

37. New Public Management is associated with which of the following :
(A) Minnowbrook Conference I ~ (B) ~Minnowbrook Conference I

(C) Minnowbrook Conference III (D) - All of these

T.B.C. : 18/14/ET-I1 28
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18, ‘Governance’ was used for the first time by World Bank Report 1989 in respect

of :
(A) Sub-Saharan Africa (B) Latin America
(C) Asia . (D) Eastern Europe
39. Which of the following measures corruption across world 7
(A) Amnesty Internat.iox.ml | (B) World Bank
(C). Human Rights Index (D} Corruption Perceptions Index

40, Lokpal was introduced in Lok Sabha for the first time in :
(A) 1983 . (B) 1972
(C) 1998 (D) 2012

41. Which theory in International Politics explains the Hobbesian characteristics

of the nature of International relations ?
(A) Classical Realism (B) Liberalism
{C) Neo-realism (D) Constructivism
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39.

40.

41,
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42.

43.

Who amongst the following is an exponent of Feminist Theory of International

Relations ?
(A) Hans J. Morgenthau (B) Woodrow Wilson
(C) Ann Tickner ; (D) Robert O. Keohane

Which of the following methods is not applied to establish and maintain Balance
of Power 7

(A) Alliances and Counter Alliances

(B) Armaments®and D.isarmament

{C) Universal Cooperation and Collective action

(D) Intervention and Non-intervention

Policy of containment during cold war is best explained by which of the

following ?

(A) Marshall Plan (B) Truman Doctrine
(C) Churchil’s Fulton Speech (D) Berlin Blockade

Which. of the follwoing thevries pertains to Disarmament ?

(A) Peace theory (B) Economic theory

(C) Pragmatic theory (D) ~All of these
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47.

49,

50.

The term neutralism was associated with :

(A-) Cold war {(B) Detente

(C) Non-alignment (D) Arms Race

Decline of Nation-State and Political Sovereignty is attributed to :
(A) End of cold war (B) Globalization

(C) Terrorism (D)  Transnational Actors

The demand for New International Economic Order (NIEO) included :
(A) Correction of global_economic imbalance

(B) Equity in tra:le and development

(C) Technology transfer

{D) All of the above

One of the following nations became a sectoral dialogue patner of ASEAN
in 1991 and a full dialogue patner in 1995. Identify the member nation :

(A) USA (B) India
(C) China (D) Japan’

One of the distinguishing features of India’s foreign policy in the post-

independence era was :

(A) Anti-colonialism (B) Non-alignment
{(C) Universal Disarmament (D). Panchsheel
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